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Total questions : 80 Total marks

1) x/y Q< 373 PO QM5T DI QAP 2y/X XI?
v 1) 2y%-x2/xy
2) x2-2y2/xy
3) x2-2y?/xy
4) x2-y?/xy
IR =

TS AR Ramsoes a1 10 Oul
= 2y/X - XIy = 2y2-x2/xy

2) Which of the following sentences is correct?

1)
That shirt which he bought is blue in colour

2)
The shirt that which he bought is blue in colour

3)
Which shirt he bought is blue in colour

v 4)
The shirt which he bought is blue in colour

I : The correct sentence is:
D) The shirt which he bought is blue in colour.

This sentence uses the relative pronoun "which" to introduce a defining
relative clause that provides essential information about the shirt. The
definite article "the" is used before "shirt" because it refers to a specific shirt
that he bought. Additionally, the phrase "is blue in colour" correctly describes

the color of the shirt.

3) He said "I can do the work".

1) He said that | will do the work
v 2) He said that he could do the work

: 80



3) He said that he can do the work
4) He said that | could do the work

A : The correct option is B) "He said that he could do the work."

When reporting someone's statement, it is important to maintain the
appropriate shift in verb tenses and pronouns. In the original statement, "He
said, 'l can do the work,"" the speaker refers to themselves as "I." However,
when reporting the statement, the pronoun needs to be changed to "he" to
match the original speaker.

4) We couldn't buy anything because- of the shops was open.

1
2
3
v 4

) all

) no one

) nothing

) none

4T : None of the shops Jd @ICAT CIPTAR a1 T |

The phrase "none of the shops" means that there is no particular shop or
stores in a given context. It indicates that not a single shop or store, out of a
group or set being referred to, possesses or meets the criteria being
discussed or mentioned. It implies the absence or lack of any shops in that
specific context.

5) Choose the opposite word in meaning to the word Liability

1) property
2) Treasure

3) Debt
v 4) Assets

TN : Liability = 71, GG Gl ; Property - RS0 5791, {6 &I ; Treasure - 3, G197,
RPN U ©IYK ; Debt - AT ; Assets = 5™

6) Which is correctly spelt ?

vl
2
3
4

Diarrhoea
Dirohea
Dirrohea
Dirrhoea

N— N N N

M : The correctly spelt word is Diarrhoea - SIROSR, GRRTEY, (9T ART9A, BHIKE |
"Diarrhoea" is a medical term used to describe a condition characterized by



loose, watery stools or bowel movements that occur more frequently than
usual. It is typically associated with an increased urgency to defecate and
can often be accompanied by abdominal pain, cramping, bloating, and
sometimes nausea or vomiting. Diarrhoea can be caused by various factors,
such as viral or bacterial infections, food poisoning, medication side effects,
certain medical conditions, or dietary factors. It is important to stay hydrated
when experiencing diarrhoea, as it can lead to fluid and electrolyte
imbalances. If diarrhoea persists or is accompanied by severe symptoms, it is
recommended to seek medical attention.

7) He is confident - success.

1) to
v 2) of

3) for

4) with

1N : confident of something T @Tcal R TP, WrEieg3 i, [aFvo |

8) Choose the appropriate options to complete the sentence: Today - people
who enjoy cricket is bigger than that of thirty years ago.

1
2
v 3
4

a great deal of
many

the number of
number of

~— N N S

AT : ARG PR Finite verb (is) & singular &9 the number of + subject
(plural) I7<2%0 22 |

9) The word American is-

1
2
3
v 4

adjective
pronoun

)
)
)
J)a&b

AT : American (S @RIG) Noun Q32 American (STORTST IRVTO) Adjective 1|

10) Choose the correct sentence :

1) The man appears to be stronger than other living men.
2) The man appears to be stronger than many living men.



3) The man appears to be stronger than all other living men.
v 4) The man appears to be stronger than any other living men.

I : Comparative degree (9 than 439K Singular noun X any other 43X plural
noun X< all other JIG1

11) The Tale of Two Cities'is written by-

1
2
v 3
4

Jane austen
Thomas Hardy
Charles Dickens
George Eliot

~— N N

‘A Tale of Two Cities’ &35 Victorian Novelist Charles

Dickens 9fb® (&5 LT T2y | #7ee @<z “ifas

*Z7EE 9 a2 oI et |

Charles Dickens €& o7 Wi AU (FTHrer:

Oliver SI<&¢ q¢ oy T Christmas ¢ WA

David 4 AL (A4 T4 G G2 24 (7| David
AT ¢ (TG Bleak House W4T hard time pass $40% |

e Oliver = Oliver Twist

® T &SI = Great Expectation

e Christmas = A Christmas Carol

e David = David Copperfield

® 72 %29 = A Tale of Two Cities (London, Paris City)

e Bleak house = Bleak house

e Hard Time = Hard Times

12) Rahim discourages me -borrowing.

v 1) from
2)in
3) to
4) on

AN : Discourage from - GTEl 77 X6 faresze T |

The phrase "discourage from" means to actively try to prevent or dissuade
someone from doing something or engaging in a particular action. It involves
using various means or arguments to persuade someone against pursuing a
specific course of action. The intention is to make the person lose interest,
confidence, or motivation in order to steer them away from a particular
behavior, decision, or goal.



13) The chairman and secretary - present at the last meeting.
1)is

2) have

v 3) was

4) were

T : Secretary X3 2 the d1 UPIG Q@RI A @ chairman Y3 secretary J3
IfF | 9AEd The chairman and secretary T3 Q3@ I 20T/ verb X singular.

14) Which word is correct?

1) Achievment

2) Acheivment
v 3) Achievement

4) Acheivement

I : Achievement — 3T ST, SRAT, IS |

The term "achievement" refers to a noteworthy accomplishment or success
that an individual or a group has attained. It implies reaching a goal,
completing a task, or overcoming a challenge in a way that is recognized as
significant or praiseworthy. Achievements can be in various areas of life,
such as education, career, sports, personal development, or creative
endeavors. They often require effort, skill, determination, and sometimes
even surpassing obstacles or adversity. Achievements can be subjective,
varying based on individual goals and societal standards, but they generally
represent positive milestones or markers of success.

15) Choose the correct sentence.

1) Airport is a busy place.

2) Airport is busy place.

v 3) The Airport is a busy place.
4) The Airport is busy place.

AN : 93 TGN P singular common noun-a3 9, ‘the’ definite Article
/=0 A Q3% Singular Common Noun W3 %[ Indefinite Article a/an I

16) Which one of the following is an adverb.

1) Someone
2) Somebody



v 3) Someday
4) Something

MY : someone, somebody YR something =T pronoun T A (PICAT noun- Qg
A0S INTO | ‘Someday’ ¥ Fe faoes 283 Wff ‘Adverb of time’ &
R@bo 2|

17) What is the passive voice of 'who did this' ?

1) By whom this has been done ?
2) Whom did this ?

v 3) By whom was this done ?
4) Who has done this ?

74T : Who I Active Voice & Passive voice 4 Si9liFRK Ios : By whom +
auxiliary verb + Sub (Active voice < object) + Verb -41 Past Participle +
guestion mark.

18) What is the meaning of 'White Elephant'?

1
v 2
3
4

A big elephant

A very costly and troublesome possession
A precious rate possession

An elephant of white colour

~— N N S

4N : White Elephant -a3 O &A1 SIS AT a1 QR 7 \3 WRATSAP 571G |

19) ' A child likes sweets only' the negative from of the sentence is -

1
v 2
3
4

A child likes but sweets

A child likes nothings but sweets.
A child likes not more sweets

A child likes none but sweets

~— N N S

4 : Affirmative sentence @ ‘only’ AT Negative Q 9fi&&< LA ‘only’ Qg B
none but (JEI CF@) AT ‘nothing but’ (IF, F1 31 367 21T CHA) IR |

20) Which one of the following is a common gender ?

vl
2
3
4

Teacher
book
boy
madam

S~— N N N



AT : Teacher =% Common Gender IR Teacher =0 TR 9 FY QI8 F TS
@RM | Book *=ifG Neuter Gender, Boy ™0 Masculine Gender W3t Madam ™0
Feminine Gender.

21) The antonym of the word 'delete’ is

1)

v 2)
3) contract
4) discrete

AT : delete - QT IM ST, TE P 5 dull - AP EF 5 insert - FARE IAT ; AT
FAICET ; contract - pi&Ta 31, FFHO T, I

22) SRIC fAtha @TAGR Arad (R 2

AT 2 IFT AT CTARE IFRN HK I O3 ACITSART DB ST | ST o400 SN ey,
BT, TAFH- QST TSAR | FRTCR T STy WA 20 SIS 2R G 47T |

23) HANT XA 3T SRR P ?

AT : T + 51 = Farg1 (domocd B 51%) | 949 @101 S ARPACK FTTS g 9045 37
I 1, A6 O ([IEDT (T 2, O (573 Ao H (IGDT (AP foTorg 57 a7 | (@84 < o +
5% = WP, T4 + 15 = TIPS, 91K + 91K = 97T |

24) ITS! TGP SIEAICER A1 FrORGRG TIHABTER FA0 ard It 2
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3) ST 2MId I
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26) e 5B QI SO I6TRIOT G 2
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27) STCTTSTCRTHP ST @102
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w
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28) IR )Y PR @1 2

v 1) HIfa ICAGR
PR GAVISINE
3)

)

4) S T

AT : AT IR DT SEAATST BT - MARMER FTRT, [T 6B, AR
RN, XA 0T, AT T, GPUR AR IAT|




29) TF XTI AL ¥ T @TA0?

AN TF R AP AT AT L0 -~ o, RO, 1), 5712, Sfen arofo|

30) fabs @1 bfeto Aifog <=2
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)

) *IE
3) 5o
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4) 91

N
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1) &R
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2) 1 3BT (o &7

3) 1T APCG T

4) §ioya QIR

TN 1 S FH AP0 ‘QRRITHT GIRG o A1F3d’ *RIGICS dpaz A ‘aFmos
A 3 B ORP JIATT AT P | 9O ©dd DIPIC ﬁ’iH\‘)ﬁ(@l

43) AR @TA AIECPT FRPIR P IGO0 AT ?
1) STRT OF
v 2) T 3 @i
3) 1foey ©F
4) T SIS A
1A : (BT 287 A AR IS AR A1 R GRIK &5 fmco 0 1@ @ - T, 6o, F1erelt, T,

D-ATTR 2SS (WP PN AR I | AR @s AeTT- RO RO @ RIS Sdse
foRPD (AP DIMIIPo RO R AT I(THd . 2l (5T 512 78 qrevs |

44) Fo71 FAGHTD CPIAR TRIES ?
iR

1)
v 2)
3)

)

s
(€
TIPT

N



9 EEE] 9 EEE]
AR | T, 9 | onE,
e et =em | 9
O ARG | SR | THeEw | AR
S G, O | Tfem
O ogE | (R | W0 oFE | AeERD
Em 4, Ol TG
T ERET | TEem | BrERE
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48) CPU g 791 1 ?

1) Computer processing unit
2) Central power unit

3) Computer power unit
v 4) Central processing unit

AT : CPU - A9 #{<if Central processing unit|
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